Trường THPT Nguyễn Văn Cừ
           Năm học 2019- 2020

ĐỀ CƯƠNG ÔN TẬP - MÔN TIẾNG ANH – LỚP 12 
(Tuần 4/ tháng 2/2020)

I. YÊU CẦU:

Học sinh tự xem lại và học thuộc: 
+ các chuyên đề ngữ pháp
+  từ vựng và những chú thích quan trọng đã được học trong Unit 10,11….
+ áp dụng làm đề thi số 1, 2. 

II. NỘI DUNG:  

1. Thời của động từ 

2.  Sự hòa hợp giữa chủ ngữ và động từ

3.  Ngữ âm và Trọng âm

4. Câu bị động

5. Câu điều kiện

6. Câu với wish/ If only/ as if, as though

7. Các cấu trúc giả định

8. Câu gián tiếp

9.  Liên từ

10. Mệnh đề quan hệ

11. Mệnh đề trạng ngữ

12. Câu hỏi đuôi. Cách dùng too/ so/ neither/ either

13. Giới từ và mạo từ

14. Các động từ khuyết thiếu

15. So sánh

16. Cụm động từ

17.  Đảo ngữ

III. BÀI TẬP

ĐỀ LUYỆN THI THPTQG - SỐ 1
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: A. daunted
B. installed
C. committed
D. confided
Question 2: A. core
B. more
C. pause
D. pot

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: A. commerce 
B. reserve 
C. burden 
D. southern

Question 4: A. industry
B. museum
C. pesticide
D. dynamite

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: Most of my friends admire Milan as she can play _____ piano so beautifully.


A. a
B. an
C. the
D. Ø (
Question 6: If Nick doesn't change his way of working, he ______ in big trouble.


A. is
B. would be
C. will be
D. would have been

Question 7: The last time Jimmy ______ a training course was when he was an undergraduate. 


A. had attended
B. has attended
C. attended
D. was attending

Question 8: ______ Allan’s inexperience as a midfielder, he played well and scored a decisive goal in the final match.


A. Since
B. Although
C. Despite
D. Because of

Question 9: Judy was not in town when the murder took place, so she was ______ suspicion.


A. above
B. over
C. under
D. below

Question 10: ______, others use them in medicine.


A. While some scientists use lasers for military purposes




B. Used for military purposes by some scientists


C. Lasers are used for military purposes by some scientists




D. Some scientists’ using lasers for military purposes

Question 11: After ______, the new manager has faced one crisis after another.


A. selecting 
B. having selected 
C. being selected
D. selected

Question 12: The doctor wants to know the symptoms of a wasp sting, so he tries _____ by one.


A. to be stung
B. to sting
C. being stung 
D. stinging

Question 13: With very high price of oil, people have to ______ on petrol. 


A. economy
B. economize
C. economic
D. economically

Question 14: The workers hope there will be a peaceful ______ to the new system.


A. transmission
B. transition
C. transaction
D. transformation

Question 15: It used to be a small town, where people ______ fishing for a living.


A. made
B. did
C. earned
D. led

Question 16: Betty knows she needs exercise, but finds going to the gym a ______.


A. job
B. task
C. work
D. chore

Question 17: We should ______ with the difficulties we were confronted with rather than sitting still and complaining.


A. acquaint
B. contend
C. comply 
D. accord

Question 18:Martin was behind all the brilliant marketing schemes – he is really the ______ of the company. 


A. brains
B. head 
C. heart
D. backbones

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: It is really difficult to translate Vietnamese terms having no direct counterparts in English.


A. equivalent phrases

B. clear meanings



C. concrete references

D. confusable words

Question 20: As they were standing quite far away, Jeremy couldn’t make out what his friends were saying.


A. create
B. hear
C. imagine
D. assume

Mark the letter A, B, C, or D on your answer sheet to indicate the OPPOSITE in meaning to the underlined word(s) in each of the following questions.


Question 21: The accident illuminated existing problems in the country’s dairy industry and food safety system.


A. clarified
B. revealed
C. concealed
D. damaged

Question 22: None of her novels lends itself to being made into a film; they just simply lack a coherent storyline. 


A. inapplicable
B. untamable 
C. unsuitable
D. inconceivable 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

Question 23: Jack is having trouble getting some change for the automatic vending machine, so he asks a passerby.

- Jack: "Excuse me, could I trouble you for some change?"

- The passerby: "______. Will pennies do?”



A. I know
B. Never mind
C. I am sure
D. Let me see 

Question 24: Two close friends Tom and Kyle are talking about Kyle’s upcoming birthday. 

- Tom: “Can I bring a friend to your birthday party?” 

- Kyle: “______ The more the merrier.”



A. How come?
B. Beat me!
C. Why not?
D. You bet!

Read the following passage and mark the letter Ay B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29. 

In many countries of Northern Europe, including Scandinavia, Finland, Northern Russia, and the Baltic states, ice swimming is closely connected with the tradition of sauna, (25)______ has led to the creation of a new activity where stays in the sauna are (26)______ with quick 'pauses' in ice water. In Russia, ice swimmers are called what can be literally translated as 'walruses '. The north of Europe, (27)______, is not the only place where winter swimming is practised regularly. A large ice swimming movement exists in the UK, based in a famous location: the Serpentine Lake in Hyde Park in London. In Harbin, Northern China, about 200,000 people ice-swim in the Songhua River every winter. The oldest ice swimming club in the United States, the Coney Island Polar Bear Club of New York, organises an annual (28)______ on New Year's Day. In Canada, 'Polar Bear Swims; 'Plunges' or 'Dips' are a New Year's Day tradition in (29)______ communities as well, the biggest one taking place in Vancouver since 1920. 

Question 25: A. who
B. that
C. where
D. which

Question 26: A. interdependent
B. intermingled
C. interactive
D. interrelated

Question 27: A. moreover
B. therefore
C. however
D. otherwise
Question 28: A. plunge
B. drainage
C. withdrawal
D. bathing
Question 29: A. numbering
B. numerate
C. numerable
D. numerous
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34. 

Genetic modification of foods is not a new practice. It has been practiced for thousands of years under the name of "selective breeding". Animals and plants were chosen because they had traits that humans found useful. Some animals were larger and stronger than others, or they yielded more food, or they had some other trait that humans valued. Therefore, they were bred because of those traits. Individuals with those traits were brought together and allowed to breed in the hope that their offspring would have the same traits in greater measure. 

Much the same thing was done with plants. To produce bigger or sweeter fruit, or grow more grain per unit of land, strains of plants were combined and recombined to produce hybrids, or crossbreeds that had the desired traits in the right combinations. All the while, however, biologists wondered: is there a more direct and versatile way to change the traits of plants and animals? Could we rewrite, so to speak, the heredity of organisms to make them serve our needs better? 

In the 20th century, genetic modification made such changes possible at last. Now, it was possible to alter the genetic code without using the slow and uncertain process of selective breeding. It even became possible to blend plants and animals genetically: to insert animal genes into plants, for example, in order to give the plants a certain trait they ordinarily would lack, such as resistance to freezing. The result was a tremendous potential to change the very nature of biology. 

Question 30: What is the passage mainly about? 


A. The arguments against genetic modification 
B. The benefits brought about by genetic modification


C. The reasons behind selective breeding of plants
D. The development of genetic modification 

Question 31: The word "them" in paragraph 2 refers to ______.


A. organisms
B. traits
C. animals
D. plants 

Question 32: The word "blend" in paragraph 3 mostly means ______.





A. combine
B. collect
C. gather
D. carry

Question 33: According to the passage, selective breeding ______.


A. is slower and uncertain than genetic modification


B. works much better on plants than on animals


C. helps change the traits of plants rather than animals


D. has a huge potential to change the nature of biology

Question 34: Which of the following IS NOT achieved by genetic modification?

A. Giving plants necessary traits taken from animals’ genes

B. Producing hybrids or crossbreeds from many animals and plants




C. Encouraging people to give up selective breeding completely




D. Making big changes to the very nature of biology

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42. 

Public holidays in the United Kingdom, commonly referred to as bank holidays, are days where most businesses and non – essential services are closed although an increasing number of retail businesses (especially the larger ones) do open on some of the public holidays. There are restrictions on trading on Sundays and Christmas Day. Four public holidays are common to all countries of the United Kingdom. These are: New Year's Day, the first Monday in May, Christmas Day, and Boxing Day. Some banks open on some bank holidays. In Scotland, while New Year's Day and Christmas Day are national holidays, other bank holidays are not necessarily public holidays, since the Scots instead observe traditional local customs and practice for their public holidays. In Northern Ireland, once again, bank holidays other than New Year's Day and Christmas Day are not necessarily public holidays. Good Friday and Christmas Day are common law holidays, except in Scotland, where they are bank holidays. In Scotland the holiday on 1 January (or 2 January if 1 January is Sunday) is statutory, and 25 December is also a statutory holiday (or 26 December if Christmas Day falls on a Sunday). Boxing Day is a holiday traditionally celebrated the day following Christmas Day, when servants and tradesmen would receive gifts, known as a "Christmas box", from their bosses or employers.  Today, Boxing Day is the bank holiday that generally takes place on 26 December. And 28 December only is given if Boxing Day is Saturday. 

Like Denmark, the United Kingdom has no national day holiday marked or celebrated for its formal founding date. Increasingly, there are calls for public holidays on the patron saints' days in England, Scotland and Wales. An online petition sent to the Prime Minister received 11,000 signatures for a public holiday in Wales on St. David's Day; the Scottish Parliament has passed a bill creating a public holiday on St. Andrew's Day although it must be taken in place of another public holiday; campaigners in England are calling for a bank holiday on St. George's Day; and in Cornwall, there are calls for a public holiday on St. Piran's Day.

Question 35: What is the passage mainly about?


A. Boxing Holiday in the U.K.
B. Public holidays in the U.K. 



C. Weekend holiday
D. Similar holidays in Europe

Question 36: Bank holidays besides New Year's Day and Christmas Day are not public holidays in Scotland because _______.


A. the Scots observe traditional local customs
B. Scotland does not belong to the U.K. 



C. they are common law holidays
D. the Scots celebrate Good Friday

Question 37: The word “their” in paragraph 1 refers to ______.


A. traditions’
B. the Scots’
C. holidays’
D. the UK’s
Question 38: What does the word “statutory” in paragraph 1 mean?


A. unnecessary
B. frequent 
C. inflexible
D. compulsory 

Question 39: Which of the following statements is wrong about the U.K.?


A. All businesses close on public holidays.
B. There are 4 common public holidays. 



C. Xmas Day is a bank holiday in Scotland.
D. 26th December is Boxing Day.

Question 40: The word “calls” in paragraph 2 is closest in meaning to ______.


A. requests
B. yells
C. protests
D. approvals 

Question 41: Which place has made a patron saint’s day a holiday?


A. Wales
B. England
C. Cornwall
D. Scotland 

Question 42: Which of the following can be inferred from the passage?


A. If a holiday falls at the weekend, a substitute day is given in place.


B. The British people will get 28 December off if Xmas Day is Sunday


C. The U.K. was founded on the same day with Denmark.


D. Online petitions for more holidays are more effective than traditional campaigns.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 

Question 43: In many countries, the domestic automobile industries are so strongly protected that foreign 


       A
           B
              C

cars are seen rarely there.


  D

Question 44: Psychological experiment is indicated that people remember more math problems that they 


     A
          B

can’t solve than those they are able to solve.


C
D

Question 45: Thanks to sheer hard work, the young entrepreneur has successfully managed to 


 A
B

launch a magazine of his own.

C                                      D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

Question 46: The South of England is drier than the North.


A. The South of England is not as dry as the North.


B. It is drier in the North than in the South of England.


C. It is not so dry in the North as in the South of England.


D. It is less dry in the South than in the North of England.

Question 47: "You did not tell the truth, Lucy!" said Nick. 


A. Nick warned Lucy not to tell the truth. 


B. Nick criticized Lucy for not telling the truth.


C. Nick accused Lucy of telling the truth. 


D. Nick decided that Lucy was to blame for telling the truth. 

Question 48: The thief almost certainly came through the open windows. 


A.
The thief might have come through the open windows. 


B.
The thief should have come through the open windows.


C.
The thief must have come through the open windows. 


D.
The thief could have come through the open windows.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

Question 49: I didn’t get admitted to Harvard University. It would have been fantastic otherwise.


A.
That I got admitted to Harvard University was fantastic. 


B.
If only I gained admission to Harvard University. 


C.
I regretted having been admitted to Harvard University.


D.
I wish I had gained admission to Harvard University.

Question 50: John got a terminal illness. He couldn’t get out of the bed on his own. 


A.
Such was John’s illness that he could never get out of the bed on his own.


B.
John’s illness is too terminal for him to get out of the bed on his own.


C.
Were it not for his terminal illness, John would be able to get out of bed on his own.


D.
No sooner had John’s illness got terminal than he could not get out of the bed on his own.

ĐỀ LUYỆN THI THPTQG - SỐ 2

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: 
A. accept
B. accident
C. accurate
D. success

Question 2: 
A. ragged
B. reached
C. danced
D. sniffed
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: 
A. interesting 
B. surprising
C. amusing
D. successful
Question 4: 
A. attract
B. connect
C. demand
D. marry

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: __________is a situation in which large numbers of people have little or no food, and many of them die.


A. Disaster
B. Famine
C. Poverty
D. Flood

Question 6: Reviewers often___________books as “hard to put down” or “hard to pick up again”.


A. describe
B. illustrate
C. classify
D. choose

Question 7: Thanks to the help of his teacher and classmates, he made great___________and passed the end-term exam with high marks.


A. work
B. progress
C. experience
D. fortunes

Question 8: Our firm___________a lot of business with overseas customers.


A. does
B. takes
C. deals
D. makes

Question 9: If you have any problem, please call Ann. She’ll always____________a sympathetic ear.


A. bring
B. borrow
C. give
D. lend

Question 10: “This library card will give you free access___________the Internet eight hours a day.”


A. on
B. from
C. to
D. in

Question 11: The police have begun an___________ into the accident which happened this afternoon.



A. investigation
B. investigative
C. Investigate
D. Investigating

Question 12: Tom hasn’t completed the work yet and Maria hasn’t____________.


A. neither
B. either
C. Too
D. also

Question 13: Neil Armstrong was the first man____________on the moon.


A. to walk
B. walking
C. Walked
D. has walked
Question 14: They didn’t find____________in a foreign country.


A. it easy to live
B. easy to live
C. it to live easy
D. it easy live

Question 15: Peter asked me____________.


A. what time does the film start 
B. what time the film starts


C. what time the film started 
D. what time did the film start

Question 16: I’m not accustomed___________up so early.


A. to getting
B. to get
C. by getting
D. getting

Question 17: Cars have become much more complicated. _____, mechanics need more training than in the past.


A. However
B. Therefore
C. Otherwise
D. Furthermore

Question 18: It’s high time we___________.


A. are leaving
B. were leaving
C. leave
D. left

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Let’s go over that report again before we submit it.


A. dictate
B. print
C. read carefully
D. type

Question 20: The repeated commercials on TV distract many viewers from watching their favourite films.


A. businesses
B. advertisements
C. economics
D. contests

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: He was so insubordinate that he lost his job within a week.


A. obedient
B. disobedient
C. fresh
D. understanding

Question 22: I’m sorry I can’t come out this weekend - I’m up to my ears in work.


A. bored
B. scared
C. free
D. busy

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Myra and Will are talking about university study.

-
Myra: “Do you think that university is the only way to guarantee us a good job?”

-
Will: “__________because there are successful people without a degree.”


A. I don’t quite agree

B. You are right


C. That’s true

D. Yes, we should find a job after university

Question 24: Mark has just arrived at the city and is asking a man on the street.

-
Mark: “Can you tell me how to get to Lotus Hotel?”

-
The man: “___________. I don’t know. I’m from out of town.”


A. Yes of course
B. Sure
C. I’ll show you
D. No, I’m sorry

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.


Choosing clothes can be difficult. Some people want to be fashionable, but they don’t want to look exactly like everybody else. Not all clothes are (25) ___________for work or school, perhaps (26) ___________they are not formal enough, or simply not comfortable. It is easy to buy the wrong size, and find that your trousers are too tight, especially if you are a little bit overweight. Very (27) ___________clothes make you feel slim, but when they have shrunk in the washing machine, then you have the same problem! If you buy light cotton clothes, then they might not be (28) ___________for winter. If your shoes are not waterproof and if you aren’t (29) ___________for the cold, you might look good, but feel terrible!

Question 25. 
A. comfortable
B. suitable
C. fitted
D. equal
Question 26. 
A. because
B. but
C. so
D. although
Question 27. 
A. loosened
B. lose
C. loose
D. lost
Question 28. 
A. too warm
B. warm enough
C. so warm        D. enough warm
Question 29. 
A. dressed
B. clothed
C. worn
D. fitted

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.


In 776 B.C., the first Olympic Games were held at the foot of Mount Olympus to honor the Greek’s chief god, Zeus. The warm climate for outdoor activities, the need for preparedness in war, and their lifestyle caused the Greeks to create competitive sports. Only the elite and military could participate at first, but later the games were opened to all free Greek males who had no criminal record. The Greeks emphasized physical fitness and strength in their education of youth. Therefore, contests in running, jumping, javelin throwing, boxing, and horse and chariot racing were held in individual cities, and the winners competed every four years at Mount Olympus. Winners were greatly honored by having olive wreaths placed on their heads and having poems sung about their deeds. Originally these contests were held as games of friendship and any wars in progress were halted to allow the games to take place. They also helped to strengthen bonds among competitors and the different cities presented.


The Greeks attached so much importance to the games that they calculated time in four-year cycles called “Olympiads”, dating from 776 B.C. The contest coincided with religious festivities and constituted an all-out effort on the part of participants to please the gods. Any who disobeyed the rules were dismissed and seriously punished. These athletes brought shame not only to themselves but also to the cities they represented. 
Question 30: Which of the following is NOT true?


A. Winners placed olive wreaths on their own heads.


B. The games were held in Greek every four years.


C. Battles were interrupted to participate in the games.


D. Poems glorified the winners in songs.

Question 31: The word “elite” in paragraph 1 is closest in meaning to___________.


A. aristocracy
B. brave
C. intellectual
D. muscular

Question 32: Why were the Olympic Games held?


A. To stop wars.

B. To honor Zeus.


C. To crown the best athletes.
D. To sing songs about the athletes.

Question 33: The word “They” in paragraph 1 refers to___________.


A. wars
B. winners
C. contests
D. olive wreaths

Question 34: What is the main idea of this passage?


A. Physical fitness was an integral part of the life of ancient Greeks.


B. The Greeks severely punished those who didn’t participate in physical fitness programs.


C. The Greeks had always encouraged everyone to participate in the games.


D. The Greeks had the games coincide with religious festivities so that they could go back to war when the games were over

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.


In 2011, on the popular American TV quiz show, Jeopardy!, two champions competed against a brand new opponent. Both Ken Jennings and Brad Rutter had won millions of dollars on Jeopardy! Jennings once won 74 games in a row, the most ever. Then Rutter beat him in a tournament and set a new record for the most money won on Jeopardy! Their new opponent, Watson, had never appeared on the game show and had only played practice games before, in which he often got answers wrong.


However, Watson isn't human. He, or rather it, is a machine, a wonder of technology made by researchers at IBM. In the game, Watson used math to decide on an answer. When a question was read out, Watson was immediately given the same question in electronic form. It analyzed the question and searched its memory bank - about the same as one million books of information - for possible answers. It then narrowed the options down to one answer. If Watson felt around 75 percent confident about the answer, it would answer the question.


The way Watson thinks is very different from the way humans think. People often make decisions by listening to their emotions and feelings, even if they are unsure of the answer. As a computer, Watson couldn't do this. People also watch and listen to those around them. Watson was not able to "listen" to the wrong answers given by his competitors. In one question, Jennings answered the question incorrectly and Watson later answered with the same wrong answer. Watson also made silly mistakes. In a question in the category U.S. Cities, Watson incorrectly answered Toronto, even though the city of Toronto is in Canada. An IBM researcher said Watson got confused because it saw in its memory bank that the U.S. is often called America. Toronto is considered a North American city, so that was the answer that Watson gave.


Still, Watson defeated his human opponents somewhat easily and received the $1 million prize. The other players also won money for participating in the special game. Everyone left the game happy, as each player was earning money for different charities.

Question 35: What best serves as the title for the passage?


A. Champions of Jeopardy!
B. A Technological Marvel


C. Human is Smarter

D. Competitors of Jeopardy!.

Question 36: Which of the following is a silly mistake of Watson?


A. He gave many answers to one question.  B. He based on other people’s clues to answer questions.


C. He repeated the question.                        D. He repeated his opponent’s answer that was wrong.

Question 37: The word “him” in paragraph 1 refers to___________.


A. Ken Jennings
B. Brad Rutter
C. Watson
D. an IBM researcher

Question 38: How can Watson understand the question read out by humans?


A. He reads the question in an electronic form. 



B. He just listens to it.


C. He searches for the same question in his memory. 


D. He is helped by an IBM researcher.

Question 39: Why did Watson mistake Toronto as of America?


A. Because Toronto is not a city.


B. Because Toronto is not in America.


C. Because the U.S. is called America in his memory bank.


D. Because Canada isn’t in his memory bank

Question 40: The word “bank” in paragraph 2 is closest in meaning to___________.


A. a financial service 
B. money
C. stored information 
D. side

Question 41: All of the following statements are true about Watson EXCEPT___________.


A. In order to answer questions, Watson uses math.


B. His memory bank is equal to one million books.


C. He’d never been in an official Jeopardy! before he joined the show with Jennings and Rutter.


D. The way Watson produces an answer is the same as that of humans.

Question 42: The word “defeated” in the last paragraph is closest in meaning to___________.


A. understood
B. won
C. lost
D. broke

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: Air pollution, together with littering, have been causing many problems in our 


                         A                                B                         C

large, industrial cities in the last few years.

                                                   D

Question 44: There is a severe famine in Somalia , and thousands of people are dying from hungry.                          A
                                       B                                     C           D
Question 45: Venus approaches the Earth more closely than any other planet is.


          A              B
                                        C                D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: They arrived too late to get good seats.


A. They had to stand for the whole show.


B. They got good seats some time after they arrived.


C. As they got there too late, there were no good seats left.


D. Although they were late, they found some good seats.

Question 47: “How brave you are!” he said to the firemen.


A. He criticized the firemen for their discouragement.


B. He asked how brave the firemen were.


C. He blamed the firemen for their discouragement.


D. He praised the firemen for their courage.

Question 48: Peter’s main subject at university is electronics.


A. Peter thinks electronics is a special subject.       

B. Peter majors in electronics at university.


C. The university lets Peter major in electronics.   
 
D. Electronics is among the subjects that Peter likes

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: She is a famous author. She is also an influential political commentator.


A. She likes writing famous books and commenting on politics.


B. She is neither a famous author nor a political commentator.


C. She writes famous books, but she does not know much about politics.


D. She is not only a famous author but also an influential political commentator
Question 50: The old man is working in this factory. I borrowed his bicycle yesterday.


A. The old man whom is working in this factory, I borrowed his bicycle yesterday.


B. The old man whom I borrowed his bicycle yesterday is working in this factory.


C. The old man whose bicycle I borrowed yesterday is working in this factory.


D. The old man is working in this factory which I borrowed his bicycle yesterday

